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1. The speed of transverse waves on a spring is 15 m/s. If the source produces a disturbare®every

0.2 seconds, what is the wavelength of the waves produced?
o
V=FX 15 m/g= )\ N 3
“

2. Ifa wave generator produces J0 meter-long Ueverv 4 secona alculate the wave eed
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3. The violin ‘A’ string (44@Hz) has a length of 30 cm. At what speed does the findamental
frequency travel along the string? C Y ‘“\)
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4. A trumpet is an open tube with a length of 150 cm. Calculate the lowegt no tal
frequency) that it can play. Assume v =340 m/s. g - W 6 »ls
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5. What is a standing wave? How is it formed? v-rl
P."]

nJ lﬂT ryen ) !
OTM wealy: ‘;f"“sg:‘l?.: &d.f'l".c Ne 1'8.

N2 XXence produces ngdes? Anti-nodes?
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8. A rope, fixed at both ends, is vibrated by a machine at a W (similar to the clas
demo). If the rope is placed under more tension. whal happen tc$'avelength? «Why?
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10. A Imcro th waves passmg through it%o heat up food. What is ﬂm
danger of allowing the microwaves to ecome stan Wav ? How is this prevent
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